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QUESTION 1

What is a characteristic of thin LUNS?

A. When a thin LUN is destroyed, its allocated capacity is automatically reclaimed to the pool.

B. When a thin LUN is created, physical storage is fully allocated for it

C. Once a thin LUN is created it cannot be destroyed until all data is deleted from it

D. When a thin LUN is destroyed, its allocated capacity is reserved until an administrator reclaims it

Correct Answer: A

QUESTION 2

An organization requires double the processing capacity for a specific duration to handle increased workload. For the
remaining period, the organization might want to release the idle resources to save costs. The workload variations may
be

seasonal or transient.

Which cloud characteristics enables the consumer to handle such variations in workloads and IT resource
requirements?

A. Rapid elasticity

B. Resource pooling

C. Measured service

D. On-demand self-service

Correct Answer: A

QUESTION 3

Which method optimizes network performance by distributing network traffic across the shared bandwidth of all the
ISLs?

A. Link aggregation

B. Network zoning

C. Network segmentation
D. Link failover

Correct Answer: A
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QUESTION 4

In which technique does an application maintain limited functionality, even when some of the modules or supporting
services of that application become unavailable?

A. Retry logic

B. Persistent state model
C. Graceful degradation
D. Checkpointing

Correct Answer: C

QUESTION 5

To implement a new service desk management tool, the capacity of the servers has to be extended. Who is responsible
for managing the request for additional capacity?

A. Change Manager

B. Financial Manager

C. Capacity Manager

D. Service Level Manager

Correct Answer: A
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